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The least count of meter rod is

0.01 mm (D) 0.01cm (C)
Prefix femto is equal to

10" (D) 107" (©)

Co-efficient of friction is equal to
5 ) E+R (©)

R

vectors can be added by head to tail rule.
4 (B)
2 (D)

The value of "g" at a height one earth's radius above

the surface of the earth is

2 (2] { . (©)
28 38

. The work done will be zero when the angle between

the force and the displacement is
180" (D)
(metal) is the lightest.

90° (C)

lead -~ (D) mercury d// (C)
has the largest value of co-efficient of linear
thermal expansion.
steel Jf“ (D)
The surfaces of Leslie's cube are

4 (O

brass J’:‘ )

3 (€

The major source of heat energy is
light & (D)

The efficiency of an electric lamp is
5 (D)

The weight of a body is 147 N, its mass will be

earth =) (C)
percent.
10 (C)

(if g=10ms™)
147 kg (D)
14-(1)-122-104000

0.147 kg (C)

- bn LI H

0.01m (B) 1 mm (A)
- b 4l L f‘-j«f(’{d/

() 10° A

by 4le & ..w’d’,!/Ku’;’

(B) KR (A
_q.l:gblf 2 /(: c_Ju’J};}‘
any nuigber of u”)l,v’d’f (A)

3 (©)

(=)
-q..wﬁ e o (los)
aluminium rf?’.t.l (B) copper <8 (A)

e et L sk Jr Pl

60°

- b e o

gold 47 (B  aluminium @k (A)
~t O el 4

2 (B) 5 (A)
PR AT % Gz

moon £l (B) sun G (A)
o Ot s S AS

15 (B) 20 (A)

¢n ___ JUVEUI e 14T N OB g7 A
(g=10ms™-)

14.7 kg (B) 1.47 kg (A)
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questions from Section II,
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(2) we Jf:. u-’.ru,.b .q.d)U Jilo o)

Section - I J3l o

2 - Write short answers to any FIVE (b) questions.  (5x2=10) -i{i -.«U!/” Z =y (b5) 5 L & Jf 2

i- What is meant by derived quantities and derived units?
ii - Define scientific notation and give two examples.
iii - Define positive and negative zero error of vernier callipers.
iv - Differentiate between rotatory motion and vibratory motion.
v - Differentiate between positive and negative acceleration.
vi- Define momentum and write down its ST unit.
vii - Define co-efficient of friction and write down its formula.

viii - What is meant by banking of the roads? -
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3 - Write short answers to any FIVE (5) questions. ~ (5x2=10) ...é{)’ ..-.-«U:’r/# L=ty (5) é& P J:( -3

i- Whatis second condition for equilibrium? Write down
its mathematical equation. |
ii - Define resultant of forces. .
iii- What is meant by céntre of hass and centre of gravity?
iv- Describe the law of gravitation.
V- What is meant by global positioning system?
vi - What is the height of a geostationary satellite from the
centre of Earth and velocity with respect to Earth?
vii - What is meant by nuclear fuels?

viii - What is meant by Solar House Heating?

4 - Write short answers to any FIVE () questions.  (5x2=10)

i- State Pascal's law.
ii - Define hydrometer.
iii - -Why is water not suitable to be used in a barometer?
iv- Differentiate between temperature and heat.
" v- Define internal energy.
vi- Why does heat flow from hot body to cold body?
vii- Differentiate between conduction and convection.

viii - What is meant by green house effect?
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Section - IT (12

Note: Attempt any TWO (2) questions from Section I, Zeolnl oy (2) e Jf:.- cﬂ(»,.b :.b\)\
5 - (a) Define and explain the law of conservation 1+3 (4) g Sl L Fa L () -5
of momentum. ‘ ' -Z: ol sl
(b) A train starts from rest. It moves through (5) e 8/ Lapble e b S Sl A (L)
1 km in 100 seconds with uniform acceleration. SKIEE 100 AL gﬂ)"‘(! (/&Y -
What will be its speed at the end of 100 seconds? JR 100 ol QL Lok Kk, LI
‘-’Jﬂlj’é:'tfdf‘gi-ﬂ&; l
6 - (a) Calculate the mass of the Earth. (4) , & PO () -6
(b) A motor boat moves at a steady speed of (5) e byt 4 me wy e (&)
4 ms™'. Water resistance acting on it is ) § &L’ dis &S J‘f{ U J/ =Sz
4000 N. Calculate the power of its engine. sy S FIE U1 e 4000 N o5
| -
7 - (a) What is meant by evaporation? On what factors 1+3 (4) Fum (’;L u’f feeslp Ve w"ij_;;,gl (W -7
does the evaporation of a liquid depend? Explain. - el fe ta g JF S A ¢
(b) What would be the volume of ice formed by (5) s ¥ ey & ¢tz f}; VAN
freezing 1 litre of water? ¥
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L 1=yt velocity of 4 body becomes three times greater, (KE) &t o3¢ 7 LotV f s § ,/f! -1.
then kinetic energy will be times. ~(f n bl
nine J (D) six & (C) four U (B) three o (A)
2 - Co-efficient of friction between tyre and dry road ed f?u w2 o L B 2
is -4
1 (D). 2 (C) (B) 0.1 (A)
B« Q

tC;Jfl;(é:u:uV -3

Rate of flow of heat —t— oC

—— e

A (D) i‘ (©) ‘1% (B) A’ (A
4-  1kmh™is equal to e ld & lkmh™ -4
36 10
36ms™ (D) 10ms™ (C) o™ ® 3T A
5- Aforce "f:) " Is acting along x-axis, its y-component K1 -~ Jf Jf J}J x-axis f w;’.,g -5
will be £ c—zﬁ:{ -y
zero 4 (D) 1. (C) F (B) 2F (A
6 - Earth's gravitational force vanishes at . - Jlgn g uo? J"iedgf J A -6
1000 km (D) 42300 km ( infinity .U (B) 6400 km (A)
G Force ( EJ is equal to 2, gl & (EJ s !
“PLPi (3 Pf—_—l—)l- (8) Eﬁ (A)
t t t .
8- meters should be the approximafely length e JKJ S it § & %f b Hank d,& -8
of a glass tube to construct a water bargmeter. ~&-b ds
11m (D) 1m (B) 05m (A)
9-  Aninterval of 200 micro seconds (1S} is equivalentto . e Gl-L_ 5 ¢ (ps) B 200 -9
2x107°s (D) - 2x10™s (C) 0.02s (B) 02s (A)
10 - According to Archimedes, upthrust is equal to . & il Jegi g L Jm £ Ul 10
- ot 41
weight of displaced liquid v £ dL iy i v (A)
volume of displaced liquid (:Jl; L. d’L Lisipes (B)
mass of displaced liguid UL L Gl L b it er (C)
density of displaced liquid & g (,’:L i bés (D)
11- vectors can be added by head to tail rule. -3 ﬂ:(g a8 7 e chi B Sk - 11
2 (B) any number of & L0 u"'gff (A)
4 (D) 3 (C)
i2. has the largest specific heat. - olic b..«/,vy‘gg;uliaj .12

mercury (§/r (D) water &g ©) ice iz (B) copper (6 (A)



. 1:45 Hours

s J Paper:I

(Group:1II)

farks: 48

- Note:

P

-

-

Section I is compulsory. Attempt any TWO (2)

questions from Section IL

(Ut 1 el JFUEE) 122
SUBJECTIVE

GUT- 423

| 24 kf)

(/) & 1:45:2%

48:‘ﬂ|.

(2) ve J/c’- u-‘.'(»,.‘o .q..d)lld)‘l.b 07
ST e

e

Section -1 Jil

2 - Write short answers to any FIVE (5) questions.

i-

i -
111 -
v -

v -
Vi -
Vil -

viii -

Write down two demerits of measuring instruments,
used in the past.

Define Physics.

What role SI units have played in the development of science?

Define scalar and give its two examples.
Differentiate between rest and motion.

What is position?

Why rolling friction is less thah sliding friction?

State "law of conservation of momentum®.

3 - Write short answers to any FIVE (5) questions.

i- Why communication satellites are stationed at geostationary

i -

i -

v -

Vi -

Vil -

viii -

orbits?

What is mass of the earth? Write down the formula to find

the mass of the earth?

if radius of the earth (R) becomes doubled, then what will be

effect on orbital speed?
How biogas is prepared from biomass?

A body of mass 50 kg is raised to a height of 3 m.

What is its potential energy? (if g =10 ms™)

What is difference between rigid body and axis of rotation?

When a body is said to be in equilibrium?

Which form of energy is most preferred and why?

- 4 - Write short answers to any FIVE (5) questions.

i-
1 -
i -

v -

What is elasticity?

Define Young's modulus also write down its formula.

What is meant by linear thermal expansion?
On which factors evaporation does depend?

Write down their names.

Define lower and upper fixed ‘points in thermometer.

Distinguish between insulators and conductors.

Define global warming.
How do birds fly?
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Q vy —C' 323 Section - II (1 2o o
Note: Attempt any TWO (2) questions from Section IL ) :.«QLKL ey (2) ve ch:. cﬂr»...'o U7 A
5- (a) State Newton's second law of motion. (4) é;( w}éff eI 0§ Tl () 5
Derive an expression of force and hence d/ &y S L w;’nl i PrINCY P
define SI unit of force. -ETL: .4,1/7
(b) A train starts from rest. It moves through (5) 3 et e o s o ()
1 km in 100 seconds with uniform acceleration. 19 SR 100 AL uii/"gl (/Lag',g p
What will be its speed at the end of 100 seconds? J4Z 100 e QSE ot & 24, sl
o he Seprgind”
6- (@ State and explain the law of gravition. 1+3 (4) Jul ! éulf. fuib“é u"fbdgf )y . B
-’fé o loy
(b) Calculat the power of a pump which can lift (5) ik Gt £16 m /[}g 70 Kg % sl Ligel
70 kg of water through a vertical height of (9 s g ot - v BE U108 oF
16 min 10 S. Also find the power in horse power. _Zf;p"’ Sk s fng e
7 - (a) Define specific heat capacity. Describe the (4) S J d& -é ._.y/'" d/ Jj bf Jﬂ} S () i
importance of large specific heat capacity -’cf{ Pk oA J jlif ‘3/!/ u":}
of water.
(b) A wooden cube of sides 10 cm each, has been (5) #5510 JHJ@?LU)\?{KU}QQ i)
dipped completely in water. Calculate the upthurst d/ dg LU - Il b J‘( o dg -
of water acting on it. & (s J Jui
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